Algebra I This is a sa

Members of a senior class held a car wash to
raise funds for their senior prom. They charged
$3 to wash a car and $5 to wash a pick-up truck
or a sport utility vehicle. If they earned a total
of $275 by washing a total of 75 vehicles, how
many cars did they wash?

A 25
B 34
C 45
D 50
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Released Test Questions

48 ( 2 —2x+8)—(x3 +3x—2):
A 3xi+x+6
B 3x24x+10
C 3x2-5x+6
D 3x2—5x+10
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49| The sum of two binomials is 5x2 — 6x. If one of
the binomials is 3x2 — 2x, what is the other
binomial?
A 2x?—4x
B 2x%—8x
C 8x-+4x
D 8x2—8x
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50 | Which of the following expressions is equal to

46 | At what point do the lines represented by the
equations 2x+ y+1=0and 4x+ y—3=10
intersect?

A (2.5)
B (2.-5)
Cc (=11
D (1-1)
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553
47 =
10x7
A 2yt
B 1
2x*
C :
o5
4
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(x+2)+(x—2)2x+1)?

A 2x?—2x
B 2x%—4x
C 2xr4x

D 4x?4+2x
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Answers

45

46

47

48

49

50




